Regents Exam Questions A.REI.D.12: Graphing Linear Inequalities 2
Page 8
www.jmap.org




Name: __________________________________



1
Which graph represents the inequality [image: image1.png]y =3



?

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
Which graph represents the inequality [image: image6.png]y2x+3



?

	1)
	[image: image7.png])
.





	2)
	[image: image8.png]




	3)
	[image: image9.png]




	4)
	[image: image10.png]x

/







3
Which graph represents the solution of [image: image11.png]Jy-9 < 6x



?

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]






4
Which graph represents the solution of [image: image16.png]2y + 6 = 4x



?

	1)
	[image: image17.png]\@ U





	2)
	[image: image18.png]




	3)
	[image: image19.png]o





	4)
	[image: image20.png]/o

T

/







5
In the graph of [image: image21.png]


, which quadrant is completely shaded?

	1)
	I

	2)
	II

	3)
	III

	4)
	IV



6
Which quadrant will be completely shaded in the graph of the inequality [image: image22.png]


?

	1)
	Quadrant I

	2)
	Quadrant II

	3)
	Quadrant III

	4)
	Quadrant IV 



7
Which ordered pair is not in the solution set of [image: image23.png]y = 2x+1



?

	1)
	[image: image24.png]




	2)
	[image: image25.png]




	3)
	[image: image26.png]




	4)
	[image: image27.png]






8
Which inequality is represented by the accompanying graph?

[image: image28.png]



	1)
	[image: image29.png]y <3





	2)
	[image: image30.png]y =3





	3)
	[image: image31.png]




	4)
	[image: image32.png]






9
Which inequality is represented by the graph below?

[image: image33.png]



	1)
	[image: image34.png]y<2x+1





	2)
	[image: image35.png]y<—2x+1





	3)
	[image: image36.png]1
y<gxel





	4)
	[image: image37.png]1
y<-gx+l







10
The diagram below shows the graph of which inequality?

[image: image38.png]



	1)
	[image: image39.png]Y e x—






	2)
	[image: image40.png]




	3)
	[image: image41.png]y<x—






	4)
	[image: image42.png]






11
Which inequality is shown in the graph below?

[image: image43.png]



	1)
	[image: image44.png]yS%x+3





	2)
	[image: image45.png]yzgmz





	3)
	[image: image46.png]




	4)
	[image: image47.png]W
i







12
Which inequality is shown in the accompanying diagram?

[image: image48.png]



	1)
	[image: image49.png]3
y> 3742





	2)
	[image: image50.png]3
y<gxel





	3)
	[image: image51.png]y2§x+2





	4)
	[image: image52.png]yS§x+Z







13
Graph the solution set for the inequality [image: image53.png]4x-3y > 9



 on the set of axes below.  Determine if the point [image: image54.png]


 is in the solution set.  Justify your answer.



[image: image55.png]
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1
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2
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3
ANS:
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ANS:
3
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011422ia

5
ANS:
3
REF:
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6
ANS:
4
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7
ANS:
4

[image: image57.png]5>22)+1



 is not true.
REF:
080513a

8
ANS:
1
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9
ANS:
2

The slope of the inequality is [image: image58.png]


.
REF:
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10
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ANS:
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1
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13
ANS:


[image: image59.png]EEEEEEN




 [image: image60.png]


 is in the solution set. [image: image61.png]4(1)-3(-3) > 9
44959
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